INOX

Stainless
Steel

LV.A-60-SST
LV.A-60-AS-SST

ELESA JF @] % 3t

LI.I.‘
L

R A EE R AR RSB

xR &4

IR M ERGREPABTR R ERE, TEA. W,
it DA B o 52 9

REMEE, LXE,

- AISI304 7 55 4 3 8 77 SR SUERAT

LVARL: B A KR B

LVA-ASH . yNBRIRTOE KA ZANACER B, Wi o,
FrozEmTRERERRT REFE, WLEXHAE RS, 2F
HEZSEARENERT, RELBAL,

- AISI30ATR R E (LT, £ LE5127),

oy b

FRBITWEEMEAN, ZLE2RRE,

KRB R AR T B Ay 7 8, ZEHMERLI %
B T AOERA, R 2F, TUB LR, RKEFERAEH,

AFREETOERHBVERL, EFFATHREH AT AR, &F
HAr e EEHemBEl, #A55FE, HEARAFEN KT
i,

RAISI304 T 4540 T i 4 Btk T 164 7K (16F0.030%) 4
KEREEENELEATAL, LIREHLG T LHNRARE, DL
REIA. SEREREREZEHIR, AERTERMBHTE,

e

|4

24

7F | BLET | ==

Al 2 o Al 2 D L L I d | @ s [N] g g

323121 | LVAS0-14-SSTM8d3 |327121 | LVAGO-14-ASSSTMBx43 | .. 76 79 .. | M8 43 1 1 4000 63 82
323125 | LVA60-14-SST-M8x68 |327125 | LV.A-60-14-AS-SSTMBX68 101 104 M8 68 4 4 75 94
323221 | LVAB0-14SSTM10x43 |327221 | LV.A-60-14-AS-SSTM10x43 7 79 M10 43 72 91
323225 | LVA-60-14-SST-M10x68 |327225 | LVA-60-14-AS-SSTM10x68 |60 101 104 33 | M10 68 14 14 14000 85 104
323231 | LVAB0-14-SST-M10x98 |327231 | LV.A-60-14-AS-SST-M10x98 131 134 M10 98 99 118
323321 | LVAB0-14-SST-M12x43 |327321 | LVA-60-14-AS-SST-M12x43 76 79 M12 43 82 101
323325 | LVA60-14-SST-M12:68 |327325 | LVA60-14-AS-SSTM1268 |80 101 104 33 | M12 68 14 14 14000 100 119
323331 | LVAB0-14-SST-M12x98 |327331 | LV.A-60-14-AS-SST-M12x98 131 134 M12 98 122 141
323521 | LVA60-14-SST-M16x68 |327521 | LV.A-60-14-AS-SST-M16x68 101 104 M16 68 145 164
323525 | LVA-B0-14-SST-M16x108| 327525 | LV.A-60-14-AS-SST-M16x108 141 144 M16 108 199 218
323541 | LV A60-14-SST-M16x148|327541 | LVA-60-14-AS-SST-M16x148 |60 181 184 33 | M16 148 14 16 14000 252 271
323561 | LV.A-60-14-SST-M16x168|327561 | LV.A-60-14-AS-SST-M16x168 201 204 M16 168 279 298
323621 | LVA60-24-SST-M16x58 |327621 | LV.A-60-24-AS-SST-M16x58 101 104 M16 58 208 227
323625 | LVA60-24-SST-M16x98 |327625 | LVAGO-24-ASSSTM16X8 | . 141 144 . | M16 98 , ) 18000 260 279
323641 | LVA60-24-SST-M16x138| 327641 | LV.A-60-24-AS-SST-M16x138 181 184 M16 138 4 4 311 330
323661 | LV.A-60-24-SST-M16x158|327661 | LV.A-60-24-AS-SST-M16x158 201 204 M16 158 339 358
323725 | LVA-60-24-SST-M20x98 |327725 | LV.A-60-24-AS-SST-M20x98 141 144 M20 98 332 351
323741 | LVAB0-24-SST-M20x138|327741 | LVAGO-24-ASSSTM20x138( . 181 184 . | M20 138 , ) 18000 412 431
323761 | LVA-60-24-SST-M20x158| 327761 | LV.A-60-24-AS-SST-M20x158 201 204 M20 158 4 4 452 471
323781 | LV.A-60-24-SST-M20x198| 327781 | LV.A-60-24-AS-SST-M20x198 241 244 M20 198 537 556
323825 | LVA-60-24-SST-M24x98 |327825 | LV.A-60-24-AS-SST-M24x98 141 144 M24 98 432 451
323861 | LVA-B0-24-SST-M24x158| 327861 | LVAB0-24-AS-SST-M24x158 |60 201 204 43 | M24 158 24 24 18000 607 626
323881 | LVAB0-24-SST-M24x198| 327881 | LV.A-60-24-AS-SST-M24x198 241 244 M24 198 728 747

R KBARK EREXRERNRT, ANEREELHREE, THAINRERHEL.
#4508 T R 8

“‘ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘elesa-BANTIR )




